C:Ofd‘“ “ﬁ Opuatcm

ED

X
PV

As
d 4
a p

a7
+-5C

]
n
¢ €
+ N

Iy
SS

o
l. EVM parh o Kprtodion,

%) 5(3)° 0) 2 $l-q)>
? 5(243) - i)

= ki) > 29

2 Wride _ach JL.)L.'MQA hat
a) 5X 3X3%3Xx3

- 3069

eGL5t 4¢3
NI — =
= ~3(/296) = 9(-9)
- —388 ¥ = 3G

a

-U.L:’\A" 'f a ?ow’u_

by & 4 x(-3) x(-3) % (-3)

=5(3)" -4 (-3)°

C
€) ~2 X {0 X1ax\ox\e

= =23)7
3. Evalinoky
£U3 3 a 2 P 3 { )
a) 7+ Y b) (3+8&) -1 c) 85 -4 (-5) ol) 101-('6)—5('7)
=61 +6f =) -1 = 813 ~4(-125) ~ o ¥ ) -3(-99)
= 128 = - 12 = 513 + 500 =] =271 +/47
- 109 SN OIER = 130



)8-3@@4%)  F)(-5-D7+ (17 ) D'+ 5
=8-301) = (-9) +C-4)®
=F -5 =& + /¢ S

_—_,__-ﬁ-_'__\

-—

= —2IE+ = /QS‘

1) 25— 32 4 (8- 6
c95-9+(69 —36)

"Z5-9 + A8
- by

%5,?;4”\9’\)(_ @ //&tﬁ—"?



